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(%) S feoTs F2 [What is Operations Research?]

(%) 7T ~ifsaze e F@Ice F e [What do you mean by balanced
transportation problem?]

(o) =rifae § sewifre 39 | [Define a spanning tree.]

(F) sfedn cananfie sTel @ F @RI¥? [What 1s meant by
integer programming?] )
(&) PRI =TT F2 [What is sequencing problem?]

(%) *5 (B (8N F2 [What is zero sum game?]

(®) (o Wity ICe F @@W2 [What is meant by pay-off
matrix?]

(%) o iiteTa et wis | [Define mixed strategy.]

() wrifeerey ifs Ft2 [What is dominance rule?]

(@) Decnsion tree I¥Cs F @2 [What is meant by decision
tree?]

(%) - (@Aiife TP FCF @2 [What is called non-linear
programming problem?]

(9) Se TR 7egl wie | [Define concave function. |

3-Rert

AT R APTRTRE S Rz f[fen @ e a9
39 | [Describe the various types of techniques for solving problems
of Operations Research.]

e Affazs TR giRfiE Jm Sqee TgE [y 37, @9
QA T ARRET 6 SR el =itz | [Find the initial basic
feasible solution of the following transportation problem in which
the cells contain the transportation cost in taka.]

[Destination] o | o, | b |D | D, AR
T [Origin] [Supply]
0, 7164|5109 40
0, 8 | 5|6 | 7| 8 30
0, 6 | 8| 9|65 20
0, 4 | 717|816 10
ifewt [Demand)] 30 |3 [15 |20 | 5 100

Y |

> |
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- T TN IS Amfs 99 91 [Describe the
Hungarian method for solving assignment problems.]

s e A F@ Foa @ ceiafie Tl e 9 |
[Solve the following linear programming problem by using simplex
method.]

sfeesad F9 [Maximize]:  z = x, +4x, +5Xx,

=[S [Subject to]: 3x, +3%, <22

X, +2X, +3%x, <14

3x, +2x, <14

Xiy Xpy X3 20
Jiw 9 ACT Aeifaf® If F9 1 [Describe Branch and Bound
method.]

7% e g M nois dw afened gef adq@ 39
[Describe the method of processing n jobs through 2 machines.]

@8 @, n-NYE @3 F-93 (n—1) IS €= == | [Show that a
tree with n vertices has (n—1) edges.]

TiEAiE (e TR By Idwr w1 [Describe  the

characteristics of dynamic programming problem.]

et

o | 957 TS trs Fries «afs @l sTive 9 [Solve the following

problem by dual simplex method]:
AP 39 [Maximize]:  z=-3x —X,

*[$7TR [Subject to]: X+ %, >1
2% +3X, =2
X >0,%,2>0
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s | ftea wAfsdza sTPTR geie ik fefa F= [Find the optimal solution
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38 | AT Fre o=*52 g% (IF*F A @3 B (¢ AB & 37 TR | 4610

of the following transportation problem]:

FeR & 96 FEE [ F9 3 @ IS TRes Jaow I |
efaread 17 fts (el =T [There are five jobs each of which

problem by Branch and Bound method]:
sifedFad T4 [Maximize]:  z =2x, +3x,
*$332 [Subject to]: 6x, +5%, <25
X, +3%, <10
X, X, >0 @3 72 [and integers]

[Destination] b lo b lp | p | TR must go through the two machines A and B in the order AB.
%7 [Origin] ! 2 $ ¢ * | [Supply] Determine a sequence for five jobs that will minimize the total
0, 7 6 4 5 9 40 elapsed time. Processing times are given below]:
e [Work]
0, 8 5 6 7 8 30 _ 1 ) 3 4 5
0, 6 | 8] 9|6 |5 20 M9 [Machine]
0, 4 7 7 8 6 10 A 5 1 9 3 10
ifRal [Demand] 30 130|152 | 5 100 B 2 6 7 8 4
. _ ot (B e @Afww W ¢ el cf¥itm st s fdy +9 |
32| @3 RS G A =a A B,C,D @ E AR FCo [Also find the total minimum elapsed time and the idle time for
W | A1 *1=eaR W Rg (¥rS FCAfGIE) (el = [A salesman each machine.]
has to visit five cities A, B,C,D and E . The distance (in hundred ¢ | WW BUCASISRERS S IRl UG B T |Use
km) between the five cities are as follows]: dominance rule to solve the following matrix game]:
(TS [Player] B
From To A B C D E B, B, B, B,
A — 2 4 7 1 (TG A, 8 10 9 14
B 5 - 2 8 2 [Player] A, 10 11 8 12
C 7 6 - 4 6 A A, 13 12 14 13
D 10 3 5 - 4
E 1 2 2 8 - SO 1YL Yy YV een Y, 99 @OTEGY J2EN W FAER o wiEAiE e
zlﬁ 3&9»21333 A 2T 0O Iq T I L‘IEQW A Wﬁﬂﬁ ISR 4, q y1+y2+y3+...+yn:Q | [Use dynamic
ST, O (P AL ARR T A I G WO IS A2 [If programming to find the maximum value of the product of
the salesman starts from city A and has to come back to city A, Yir Yoo Yoo Yo WhEN Y, +Y, + Y, +--+Yy, =Q ]
which route should be selected so that total distance travelled is 5q | FH-5FE *$ QT T AW ¥ [Solve the following problem
minimum?] using Kuhn-Tucker conditions]:
>0 | Ji% ¢ TS Amfed AR TEHIG T4 F9 [Solve the following

AfpFad T4 [Minimize]:  z=x2 + X7 + x?
*$37% [Subject to]:

X + X, + X, 215
Xiy Xy, X3 20
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